Question 2 (25 marks)

(a) The line p makes an intercept on the x-axis at (a, 0) and on the y-axis at (0, b),
where a, b # 0.

X
Show that the equation of p can be written as 2 + % =1.

v

(a,0)

(b) Theline ! has a slope m, and contains the point A(6,0).
(i)  Write the equation of the line [ in terms of m.

Leaving Certificate 2019 6
Mathematics, Paper 2 — Higher Level


Aidan Roche



(ii) Thelinelcutsthelinek:4x + 3y = 25atP.
Find the co-ordinates of P in terms of m.
Give each co-ordinate as a fraction in its simplest form.
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